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Answer the following questions (page number 12)

1.

Who declared himself more educated- wolf or jackal?

Ans. Wolf declared himself more educated.

Why did the Jackal engage the tiger in his conversation?

Ans. The jackal engaged the tiger in his conversation to tricked him.

Why did the Jackal says that the tiger was the most educated?

Ans. Because that time Tiger was open his mouth to show his dangerous teeth to the wolf.
Where did the Wolf and the Jackal go to save their lives?

Ans. The Wolf and Jackal go in to a narrow tunnel to save their lives.

Who tricked the tiger?

Ans. Jackal tricked the tiger.

Fill in the blanks (page number 13)

PWNR

The wolf was so scared that he becomes speechless.

The Tiger become pleased with the jackal's flattery.

The Tiger opened his mouth wide to show his dangerous teeth.
The Jackal Led The Tiger to a tunnel on the side of a low will.

Write true and false (page number 13)

PWNR

The Jackal was foolish: false

The Wolf and the Jackal were fighting : false
A lion come to hunt the Jackal : False

The Tiger cursed the jackal: true



